Subtracting integers

Grade 5 Integers Worksheet
Find the difference.

"6 - (-12) = -9 - 81=

2 6—85= 1225 — 12 =
% 48 — (-7) = 8.7 -3=

4 89 — (-60) = 4 .33 -5 =

5 91-93 = 1% -85 - (-7) =
5 -83-33= © 31— (-7) =
T 15 -1 = 7. -86 — (-61) =
8 51— (-58) = 1% 64 - (-74) =
S 48 — 17 = 19 85 — 53 =
1040 — (-77) = %4 — (-66) =
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Subtracting integers
Grade 5 Integers Worksheet

Answers:

6 - (-12) = 18 .9 -81=-90
26— 85 = -91 2256 -12 =13

s 48 — (-7) = 41 3.7 -3 =-10

s+ 89 — (-60) = 149 4. 33 _ 5 = .38
591 -93 = -2 18 .55 — (-7) = -48
5 -83-33=-116 © 31— (-7) = -24
715 -1 = -16 7. -86 — (-61) = -25
8 51 — (-58) = 109 8. 64 — (-74) = 138
% 48 — 17 = 31 1985 — 53 = 32
10. .40 — (-77) = 37 20 4 — (-66) = 70
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